

$$S_0 = \frac{\partial}{\partial r} (r a_1 + f d) = a_1 + 1 \cdot d$$

$$a_1 + 1 \cdot d = \frac{1}{r} (a_1 + f d)$$

$$a_1 + 1 \cdot d = \frac{a_1 + f d}{r}$$

$$a_1 + 1 \cdot d = \frac{a_1}{r} + \frac{f d}{r}$$

$$\frac{1 \cdot d}{r} a_1 - \frac{a_1}{r} = \frac{f d}{r} - \frac{f d}{r} \quad \frac{1}{r} a_1 = \frac{a_1}{r} \quad r a_1 = a_1$$

$$a_1 = a_1 + d = \frac{r d}{r}$$

$$a_1 = a_1 = \frac{d}{r}$$

$$\frac{a_1}{r} = \frac{d}{r}$$

$$d(a_1 + f) = 1 \cdot d$$

$$t_n = t_{n-1} + 1 \cdot d \rightarrow a + (n-1)d = a + (n-1)d + 1 \cdot d$$

$$t_1 = a + 1 \cdot d = a + f d$$

$$t_2 = a + 2 \cdot d = a + f d \quad (t_1)^2 - (t_2)^2 = (t_1 + t_2)(t_1 - t_2)$$

$$d = \frac{t_m - t_n}{m - n} = \frac{r - 1 \cdot f r - r - f r}{1 \cdot r} = -f r$$

$$r a_1 (r a_1 + f d) = 1 \cdot f d$$

$$d = \frac{r r - r}{r n - r} = \frac{r}{n+1} \rightarrow r a_1 + r = r a_1 - 1 \cdot n$$

$$r_1 = a_1 \quad n = \frac{r}{r}$$

$$1 \cdot d$$

$$t_n + t_{n+1} = t_r + t_n$$

$$t_n = r \left( \frac{t_n}{r} \right)$$

$$a_1 + (n-1)d + a_1 + (n+r)d = a_1 + r d + a_1 + 1 \cdot d$$

$$a_1 + d n - d + a_1 + d n + r d = r a_1 + 1 \cdot d$$

$$(n-1 + n+r)d = 1 \cdot d$$

$$1 \cdot n$$

$$r n = 1 \cdot n$$

$$n = 1$$

$$t_1 = r \left( \frac{t_1}{r} \right)$$

$$a_1 + r d = r a_1 + 1 \cdot d$$

$$-r a_1 = r d$$

$$a_1 = -d$$

$$t_1 = a_1 + d = 0$$

$$r_1 = 1 \cdot d$$

14, 25

$$a_1 = F_0$$

$$a_F = a_1$$

$$a_F = a_1 + r \cdot d \Rightarrow a_1 = F_0 + r \cdot d$$

$$a_n = F_0 + (n-1) \cdot r$$

$$F_0 + (n-1) \cdot r = F_0 \cdot n$$

$$r \cdot n = 14 \cdot 25$$

$$n = 25$$

$$100 \leq V \cdot x + r \leq 999 \Rightarrow (V \cdot n \leq 999 \quad 11 \leq n \leq 147$$

$$147 = 147 - 11 \cdot 25 + 1 = 128$$

$$1, 25$$

$$14(V) + r = 101 \quad 147(V) + r = 997$$

$$997 - 101 = 129$$

$$r = 1, 25$$

$$a_{14} - a_{10} = d$$

$$r(a_{14}) = r_0$$

$$a_{14} - a_{10} = 2d$$

$$a_{14} = 101$$

$$a_{14} = a_1 + 11(r, d)$$

$$a_{14} = \frac{-r \cdot d}{r} + (r_0) \left( \frac{r \cdot d}{r} \right) =$$

$$a_{10} \quad a_1 + 9(r, d)$$

$$r \cdot d, \omega$$

$$a_1 = \frac{-r \cdot d}{r}$$

$$r \cdot a_1 + r \cdot \left( \frac{r \cdot d}{r} \right) = r \cdot d$$

$$a_{14} = r^x - 1$$

$$a_n = r^x + 1$$

$$a_{14} = r^x - 1$$

Newton's method



$$r(a_n) = a_{14} + a_{14} \cdot r$$

$$r^x \cdot r = r^x + (r^x \cdot r) + (r^x)^r - r$$

$$\frac{1}{r^x} \cdot r^x \cdot r = r^x (1 + r + r^x) - r$$

$$r^x = \omega$$

$$(r^x)^r - r + (r^x)^r \cdot r + (r^x)^r = r \cdot r$$

$$-r = 1$$

$$q_v = c_1 + p_0$$

$$\frac{q_0^T - q_0^T}{q_v} =$$

$$\frac{f_0(c_1 + p_0)}{c_1 + p_0}$$

$$= f_0$$

$$\frac{\partial v}{\partial x} \bigg|_1$$

$$c_1 + n d + c_1 + (n+1)d + c_1 + (n+r)d =$$

$$p c_1 + (p n + p) d = -c_1 n + 1 p$$

$$p c_1 + p n d + p d = -c_1 n + 1 p$$

$$p c_1 + p(-p) = 1 p \Rightarrow p c_1 = 1 p$$

$$c_1 n + c_1 v = c_1 + 1 v d + c_1 + 1 v d = c_1 - 1 p + c_1 + 1 p \Rightarrow$$

$$p d = -c_1$$

$$d = -\frac{c_1}{p}$$

$$\boxed{c_1 = c_1}$$

$$\boxed{-p k}$$

or show

$$a_3 + a_1 = a_1 + a_1$$

$$r^n - 1 + r^{2n} - r = r(r^{n+1})$$

$$r^n - r = r(r \times r^n) - r^n$$

$$r^n - r \times r^n - r = 0 \rightarrow r^n = r$$

$$r^n - r \times r^n - r = 0 \rightarrow r^n = r \rightarrow n=2$$

عَدَد ۱-۲

$$\text{حاصل} \rightarrow \frac{r^2 - 1}{r} / \frac{r^{2+1}}{r} / \frac{r(r)}{r - r} = \boxed{24}$$

$a_{n-3}$  واسطی حسابی درج شش است پس  $32$  صدی  $a_{n-1}$  است!

$$a_{n-1} = \frac{r}{a_1} + (n-2)d = 32 \rightarrow (n-2)d = 31 \rightarrow (2n-1)d = 15$$

$$a_{n+1} = \frac{r}{a_1} + nd = 11 \rightarrow nd = 9$$

$$2nd - d = 15 \xrightarrow{nd=9} \begin{cases} d=3 \\ n=3 \end{cases}$$